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Topic:- Child Development & Pedagogy (CDP)

1) As a teacher, what type of strategy you will follow in an inclusive classroom? / Udh Rrge

& FTUH, 3Ty TH AR H&T H 5T UPR P 0 BT U B2
1. All the above / mﬂlﬁ

2. Only Peer tutoring / BT TEHHI (&I

3. Only Cooperative learning / FHad W Bl

4. Only Collaborative learning /had TgANTIHD [R1&T

Correct Answer :-

« All the above / IUdad qeft

2) A person with capacities to respond appropriately to the moods, temperaments,
motivations, and desires of other people have good intelligence. / 'FIT'ﬁE'Q'ITGﬁ,

TgHTE, WU iR 3 &Il @t s=o1ait wR Ifera ufafsear 39 &Y emdr arat safda A
33T TG BT 2|

1. Intrapersonal / NI RNERIER
2. Interpersonal / fqdafaas

3. Naturalist / Wﬁlﬁﬂﬁ){
4. Spatial / EJIEED

Correct Answer :-

« Interpersonal / fadafaas

3) What type of learner is a child who learns best by taking notes during class and reading

them aloud before a test? /WWWWWﬁT&ﬂ?ﬁ%, ﬂﬁ'ﬁ&ﬂ%?ﬁ?ﬁmw
3R Te A TEd F TR W UgHpe dgar Wraar g2



1. Reading/writing learner / UoH/ea fRigndiE@a are)
2. Visual learner / €0 fRremaff

3. Cognitive learner / GTATHD fRremeff

4, Descriptive learner / guirees fRremeff

Correct Answer :-

« Reading/writing learner / U&-/era fRref ﬁ@@ﬁ dTell)

4) What type of parenting style is characterized by giving no rules or structure to children? /

gﬁﬁaﬁaﬁéﬁmwmmqéﬁﬁmwﬁmmﬁaﬁﬁﬂwmaﬁﬁ

1. Enmeshed / 3T 311

2. Permissive / \’rlfl?:nw

3. Authoritative / 3TIHIRD
4. Authoritarian / 3{fIHRATG!

Correct Answer :-

« Permissive / \}I:Enw

5) What phenomenon is experienced when one knows a person’s name but cannot remember

it in the moment? / fopf} SufaRT BT ATH UaT B AfP depTa TS ST 3 W g g1 H1
YT BT 82

1. Tip-of-the-tongue phenomenon / feu_aifm g g
2. Recognition error / HI-dI _aj%

3. Forgetting / H{cI-T
4. Retrieval cue / Wﬁ Tobd

Correct Answer :-

« Tip-of-the-tongue phenomenon / feg_aifs_g-df g

6) What theory focuses on the degree to which new information is mentally analysed? / P

1 RIGd 39 IR 9 Higd HdT @ f T8 TP RI &7 fhd g d% Afie +u A
fazcryor fosa wirar 82

1. Information processing theory / {j\d"II-L—IiaNIObQUI Rygid

2. Relational analytical theory / AU fazcivuas Rigid




3. Levels of processing theory / UfghaThRU Rigid o TR
4, Deep level processing theory / X TR P Ufharul Rigid

Correct Answer :-

» Levels of processing theory / Ui arHRur Rigid & W)

7) Impulsivity is a characteristic of the following disorder. / STAHdT (—&'Wﬁq'ﬁﬁ)
fFafafad fier @t v faRuar 31

1. Eating Disorder / U [dPR
2. Attention Deficit Hyperactivity Disorder/ ¥ 3HId S IERIIRCEAN
3. Learning Disorder / 3feTH fddR

4. Post-traumatic Stress Disorder/ UY S{fHETdo=g -9 f[dpR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder/ &I 3{HId S IERIRIRCEAN

8) Who among the following is not a learning theorist? / Fafafead &4 Udh SIFERTH
Risiaer T8 82
1. E.L. Thorndike / TSdS Ud USSP

2. E. Erikson / ‘s‘ Qﬁaﬂ:{
3. B.F. Skinner / Eﬁwm

4. Ivan Pavlov / $a9 UTdalld

Correct Answer :-

o E. Erikson / ‘s‘ Qﬁaﬂ:{

9) According to Vygotsky, adults can help a child learn by building upon their knowledge
with new knowledge using techniques. / Wﬂ?\‘ﬁﬁ & SR, 9ITh LRG|
ST SUGRT PP AT I P HIY 3UA I ST {01 537 T 9= 91 e 3 7gg
qHd ¢l

1. Scaffolding / TRTH I

2. Psychological / EEICEIEED

3. Proximal development / JHoy faer

4. Ethological / EVISISEDS]



Correct Answer :-

. Scaffolding / THTHHITCET

10) According to Jerome Bruner, representation involves encoding action based

information and storing it in our memory / ﬁﬂ’q & SR, ufafafa &
%@%ﬂwaﬂmmmm%aﬁ?sﬁmwﬁﬁmmm

1. Iconic / Qﬁ%—lﬁﬁﬁ
2. Figurative / N NEIIRC
3. Enactive / E@H

4, Symbolic / UdIdhTED

Correct Answer :-

« Figurative / NREAIRCD

11) Principle of ‘zero rejection’ means — / ‘X[ SFApd BT Rigiar &1 g g -

1. no child with disability will be denied opportunity to education. / Tt it faaiT o= @I Rien & s@aaR 4
dferd a1 favar Srem|

2. no child with disability will be discriminated upon. [t oft feaaiv o= o I1Y Haurd a1
foba SE |

3. no child with disability will be given admission. / fdoeit 4t feaaivT s=a &1 yawr st fear Sram|

4. no child with disability can be served in regular school setting. / fbat +ft faaaiT s &1 fafia
faemer SRam & Y fean o 9 g

Correct Answer :-

« no child with disability will be denied opportunity to education. / ot +} faai o= &1 e & AR ¥
dfera 8T foar S|

12) The Big five personality traits is also known as /a%, uTg dAfdiad AEUN &I
& 9§ Wt ST ST @

1. BROOK scale / b ¥l

2. RIVER scale / SIaR ¥hdl

3. OCEAN scale / 3R ¥ d
4. CANOI scale / ﬁ‘s‘ THd

Correct Answer :-



« OCEAN scale / IR ¥hd

13) The famous psychologist who established the study of genetic epistemology which
explains the process of how people develop cognitively from birth throughout their lives is: /

98 URIS Alag—e R SMIdfRIe IM-Usfa IR & 31eqd &1 RITYT B, o) 39
ufspar o\ saTE Hd1 ¢ & f5a yer aafet siias i o1 @ |3Ee U A
fasfasd e a8

1. Arnold Gesell / 3FTcS T

2. BF Skinner / i T RBR

3. Howard Gardner / B1aT8 ek
4. Jean Piaget / S foarst

Correct Answer :-

« Jean Piaget/ S foamst

14) The cells in the body that conduct information to and from the brain are: / IR A

DIRBTY ot ARRTSH T 3R TP T TSR &1 Hare- Hdl 8, = gt &
1. Reproductive cells / TSI DIRHTT

2. Muscle cells / HIGURNYG IRIBTY

3. Nerve cells / AT HIRTBTY

4. Blood cells / 3o BIRIBTY

Correct Answer :-

o Nerve cells / GIECA m

15) Assuming another person’s perspective is known as: / ot sru aafea & e IUT 31
TG FRAT&:

1. Role strain / Hf¥eT GaTd RId )

2. Role making / 4T AT Riet Afd)
3. Role distance / H[HT g3l (}1d f& )
4. Role taking / HfH®T O (R <fdb)

Correct Answer :-

» Role taking / 'J-L[&Iwa:ﬂ (ﬁ?[ éﬁ?_rf)



16) Which sense takes the longest to develop? / Th ¥ Jdg- ! famfrd g1 o sifUeay
THY AT 82

1. Smell / U

2. Hearing / Hoddl
3. Taste / g

4. Vision / €f§

Correct Answer :-

. Vision /Ef¥

17) Which of the following is the final stage of reasoning in post-conventional morality

according to Kohlberg? / FufafRRad s aﬁw & IR SIR-ATHETT
Afaear & ad ST sifaw T g2

1. Morality of universal ethical principles / qrdaifee Afae J-LLQ'H\I' AR INEN)
2. Morality of contract / THIT I Afdddr
3. Orientation toward punishment and obedience / GUS 3R ST Bt 3R S RCINE!

4. Social concern and conscience / HTHTIST {-Islj‘lﬂ%f 3R fad®

Correct Answer :-

18) Grade Acceleration is recommended for educating the children. / = DI

Rrféra w3 & fore A @R & fawie a6t 9t 21
1. Normal / QTR

2. Disadvantaged / dfad

3. Gifted / UfAHTRITS

4. Backward / [USS

Correct Answer :-

. Gifted / UfqHTRITGH

19) According to Freud, the term hysteria describes:/ WIS & 3HR, fRTar s &7 3

f
1. A phobia of animals./ SIECRED] Uh Bifedr
2. A phobia of people / T b1 Ueh Wifadl



3. The physical reaction to mental trauma./ AR 3TTd o o RN dfdfehar
4. The physical reaction to emotional trauma/ HIdTHD T o fo eI ufafearn

Correct Answer :-

« The physical reaction to emotional trauma/ HIdTH®D HTUId & forg IR wfdfar

20) Behaviorism was founded by / TAERAIE §9F gRT I far v ot
1. Tolman / TIdHA
2. John B. Watson / S i .dTca

3. B. F. Skinner / &1.U% PR
4, Thorndike/ﬂl:‘3|$$

Correct Answer :-

. John B. Watson / S & .aT¢E

21) Which of the following is not a characteristic of the discussion method of instruction?

/Frufafad & 9 = fAdy & R ugfa $ ve fauar 78 82

1. The learners are trained for reflective thinking. /ﬁr&rrfifa‘rﬁﬂﬁmfﬁa:ré?m Q|§I|&‘H
fparSmarg|

2. It involves competitive cooperation. /sﬂﬁqﬁwﬁfw ey %I
3. It is an oral and written method of instruction. / g ﬁé?l ﬁwm @Tﬁf@ﬁq@'ﬁfgl
4.1t is a group centred process. / I8 Udh AHfe® dHfad Uikl |

Correct Answer :-

« Itis an oral and written method of instruction. / g IiléQI ﬁq&mﬁ@aﬁ Gﬁi%@ﬂq@ﬁ[%l

22) The shape of one’s nose is determined by: / fo<At &1 A1 &7 3P R m g1 feifa

BT o:

1. Geography / {Td

2. Environment / TITGR 0T
3. Heredity / 3{TaRTehdl
4. Culture / G&Ppid

Correct Answer :-

 Heredity / W



23) Learning should be focused on: / SRR R = dfea fovar s=m ?IT%'({:
1. what child is learning / S<aT T fATH B IS8T 3

2. performance / LR

3. getting job / B UT HAT

4. marks/grades / 3{db/ PE]

Correct Answer :-

. what child is learning / ST &1 3{TITH HR |1 §

24) According Jean Piaget, children develop abstract logic and reasoning skill during ./ 5= foarst

PR, PR T # el d 3R 7 SIva AR giar 8|
1. Concrete operational stage / ﬂﬁw S{AR]T

2. Formal operational stage / &rqﬁ TfhaTdd SaT

3. Preoperational stage / qﬁ- i aTa T a1

4. Pleasure / 3{Fq

Correct Answer :-

+ Formal operational stage / \’rl'&?f TichaTcD AR

25) The method which is based on the fact that students learn association, activity and
cooperation is known as: / g faftr &t 391 aat wR enuTia gl @ fr o= wgte nfafafy iz
TganT Whad §:

1. Problem- solving / JHXI- JHIYUTT
2. Project/ PUICEI

3. Demonstration / UG

4. Discussion / faaR-faw=t

Correct Answer :-

. Project / GaISHT

26) Inclusive education requires that schools should be free from the effects of negative

forms of ./ gHTaxh e & fore smawae g & faemay, ® THRTHSD =4I
& YUTT I g B |

1. Imbalance / 3 EJaA



2. Differentiation / 3{ddh ¢l
3. Diversity / fafaerar
4, Discrimination / U&UTd

Correct Answer :-

« Discrimination / U&UId

27) A commercial advertisement of food produces saliva in our mouth. This is because of

. /@mwmﬁﬁﬁaﬁmﬁgﬁmmmmélmm
|

1. Operant conditioning / JTRE Hel-HT

2. Sign learning / Uciidh JfRTH

3. Classical conditioning / FATRIH A PR
4. Latent learning / Tt SHfeRTH

Correct Answer :-

« Classical conditioning / FATRIH A Do IR

28) helps the visually challenged people to read and write using finger tips and

special aids. / WmﬁMﬁmmﬁmWﬂq%mﬂ
GRT U 3R foraq § AgTadl ST 2|

1. Lovass / A
2. Braille / i@

3. Idea books / faaR Qad (3mefear ga)
4. Tdea starter / foaR URY® (GTIE‘%TIT E’I—(h)

Correct Answer :-
 Braille /aﬁ
29) CANCELLED

According to John Dewey, the teacher plays the role of a in the learning process. /

Wi 3dt & ouR, e strm St ufbadees . &t yfrer v 21
1. Guide / ANER®

2. Facilitator / TR

3. Partner / 1}



4. Philosopher / GRIFTRIT!

Correct Answer :-

« Partner / 1t

30) CANCELLED
Stress affects learning negatively by: / 7919 THRIA® ¥ A @A B gHIId HIa1 21
1. causing learners to act out or zone out./ Rrenfiai & FRi HA & for ORd AT

2. teaching learners to improve their behavior./ 3 HAgR | JYUR H & forg Rrenfiat &1
UglHIl

3. encouraging learners to discuss their problems with peer. / AT & 1Y 3Tep! FHWTSM TR

EEIEZS EA NN RRICIRI SRR EZSI
4. releasing adrenaline./ ngﬂféq SR AT |

Correct Answer :-

« causing learners to act out or zone out./ Rrenfiai & s wA & fam URd BT

Topic:- General English(L1GE)

1) Read the passage carefully and answer the question that follows:

People take cars and other road vehicles for granted today. However, the idea of such vehicles
was unheard about 600 years ago. Then, in 1478, the artist and inventor Leonardo da Vinci
designed a self-propelled vehicle. His drawing showed a boxy, open topped wooden machine
with three wheels. Coiled springs would make the vehicle move somewhat like a windup toy.

Models of Leonardo’s vehicle have been made in recent years and are on exhibit in museums in
Italy.

Which sentence is most likely true?

1. People can still use Leonardo's drawings.
2. Leonadro painted his new vehicle.

3. Leonardo invented windup toys.

4, Leonardo Vinci is still working.

Correct Answer :-

« People can still use Leonardo's drawings.



Read the passage carefully and answer the question that follows :

Elephants are not really very savage animals, but occasionally they can be in a very bad
temper. Their most dangerous habit at such moments is to pick up, with their trunk, a large
stick or stone, and throw it with great force at someone standing nearby. When this happens,
the only thing anyone can do, is to jump quickly out of the way.

Choose the word opposite in meaning to the word ‘savage’.
1. Compassion

2. Intensely

3. Mercilessly

4. Furiously

Correct Answer :-

« Compassion
3) Read the passage carefully and answer the question that follows:

Elephants are not really very savage animals, but occasionally they can be in a very bad
temper. Their most dangerous habit at such moments is to pick up, with their trunk, a large
stick or stone, and throw it with great force at someone standing nearby. When this happens,
the only thing anyone can do, is to jump quickly out of the way.

When an elephant is in a bad temper,
1. it may try to hurt someone

2. one shouldn't throw stones at it

3. one should keep perfectly still

4. it never shows it

Correct Answer :-

« it may try to hurt someone

4) Read the passage carefully and answer the question that follows:

Elephants are not really very savage animals, but occasionally they can be in a very bad
temper. Their most dangerous habit at such moments is to pick up, with their trunk, a large
stick or stone, and throw it with great force at someone standing nearby. When this happens,
the only thing anyone can do, is to jump quickly out of the way.



The worst thing an elephant does is to
1. use its trunk with great force

2. destroy everything nearby

3. attack other savage animals

4, throw things at anyone close to it

Correct Answer :-

« throw things at anyone close to it

5) Read the passage carefully and answer the question that follows:

Elephants are not really very savage animals, but occasionally they can be in a very bad
temper. Their most dangerous habit at such moments is to pick up, with their trunk, a large
stick or stone, and throw it with great force at someone standing nearby. When this happens,
the only thing anyone can do, is to jump quickly out of the way.

It is not very often that

1. anyone can get close to an elephant

2. an elephant behaves in a savage manner

3. an elephant picks something up with his trunk

4, one can jump out of the way of an elephant

Correct Answer :-

« an elephant behaves in a savage manner

6) Read the passage carefully and answer the question that follows:

People take cars and other road vehicles for granted today. However, the idea of such vehicles
was unheard about 600 years ago. Then, in 1478, the artist and inventor Leonardo da Vinci
designed a self-propelled vehicle. His drawing showed a boxy, open topped wooden machine
with three wheels. Coiled springs would make the vehicle move somewhat like a windup toy.
Models of Leonardo’s vehicle have been made in recent years and are on exhibit in museums in
Italy.

From this paragraph, you can conclude that:

1. Leonardo's vehicle design amazed people.

2. Leonardo's drawings weren't very good.



3. Leonardo started a car-making business.

4. Leonardo didn't think his invention would work.

Correct Answer :-

e Leonardo didn't think his invention would work.

7) Read the passage carefully and answer the question that follows:

People take cars and other road vehicles for granted today. However, the idea of such vehicles
was unheard about 600 years ago. Then, in 1478, the artist and inventor Leonardo da Vinci
designed a self-propelled vehicle. His drawing showed a boxy, open topped wooden machine
with three wheels. Coiled springs would make the vehicle move somewhat like a windup toy.
Models of Leonardo’s vehicle have been made in recent years and are on exhibit in museums in
Italy.

In this paragraph, the word self-propelled means:
1. Moves by its own power

2. A fuel that makes things go

3. A kind of propeller

4. Is powered by an engine

Correct Answer :-
« Moves by its own power

8) Read the passage carefully and answer the question that follows:

People take cars and other road vehicles for granted today. However, the idea of such vehicles
was unheard about 600 years ago. Then, in 1478, the artist and inventor Leonardo da Vinci
designed a self-propelled vehicle. His drawing showed a boxy, open topped wooden machine
with three wheels. Coiled springs would make the vehicle move somewhat like a windup toy.
Models of Leonardo's vehicle have been made in recent years and are on exhibit in museums in
Italy.

What title best summarizes this paragraph?
1. Da-Vinci's Self Propelled Vehicle

2. Models in Museums Today

3. Taking Cars For Granted

4. Three Wheeled Wooden machine

Correct Answer :-



« Da-Vinci's Self Propelled Vehicle

9) Which of the following options best combines the given sentences?

The milk is cold. The milk is sweet.
1. The cold milk is sweet.

2. The milk is not cold and also sweet.
3. The milk is cold but sweet.

4. The milk is cold and sweet.

Correct Answer :-
e The milk is cold and sweet.

10) Choose appropriate article for the given sentence:

Mr. Kapoor’s family usually spends their holidays in _____ Himalayas.
1. No article

2. an

3. the

4, a

Correct Answer :-

o the

11) Choose appropriate articles for the given sentence:

____warehouse is ___special building where things are kept before they are sent to stores.
1. The...an

2.A..a

3. No article required ... the

4, An ... the

Correct Answer :-



12) Choose the appropriate option that rewrites the given sentence in its passive voice.
You can find particles of dust inside snowflakes.

1. Particles of dust can be found inside snowflakes by you.

2. Particles of dust can be found inside snowflakes.

3. Particles of dust can found by you inside snowflakes.

4, Particles of dust is found inside snowflakes.

Correct Answer :-
o Particles of dust can be found inside snowflakes.

13) Choose the appropriate option to convert the given sentence from direct speech to indirect
speech.

She said to him, "Why don’t you go to college today?”
1. She said to him why he don’t he go to college that day.
2. She asked him not to go to college that day.

3. She asked him why he had not gone to college that day.

4. She asked him why he did not go today.

Correct Answer :-
¢ She asked him why he had not gone to college that day.

14) Choose the appropriate tenses to fill in the blanks in the given sentence:

it just a coincidence that John and I the chance to meet at the same place and
the same time?

1. Is,am
2. Was, having
3. Was, had

4, Is, will had

Correct Answer :-

15) Choose the appropriate tense to fill in the blank in the given sentence:

“Can I see you at 5 o’clock?”



“Please don’'t come then. I a cricket match on TV.”

1. have been watching
2. will be watching
3. was watching

4, am watching

Correct Answer :-

« will be watching

16) Choose the appropriate antonym for the highlighted word in the given sentence.

Sometimes you can reduce your fear by talking about it with others.
1. Enhance

2. Demolish

3. Diminish

4. Remove

Correct Answer :-

* Enhance

17) Choose the appropriate conjunction for the given sentence.

Please do not go out of the classroom _____ the teacher comes.
1. until

2. till

3. because

4, since

Correct Answer :-
e until

18) Choose the appropriate synonym for the highlighted word in the given sentence.

Only those who are eligible will be selected.

1. Well-groomed



2. Cautious
3. Diligent

4, Qualified

Correct Answer :-

e Qualified

19) Choose the appropriate prepositions for the given sentence:
Some substances can release toxins ____ the blood.

1. through

2. from

3. into

4. in

Correct Answer :-

e into

20) Choose an appropriate modal for the given sentence:

We__ leave the office at 6 pm in the evening.
1. would

2. may

3. can

4, could

Correct Answer :-

21) Choose the option that best explains the highlighted expression:

With the birth of the baby, my mother's hands were full.
1. grew tired

2. the baby was very fat

3. became busy

4. incapable of hard work



Correct Answer :-

e became busy

22) Choose the most suitable pronouns for the given sentence:
____ friend knows all ___relatives’ birthdays.

1. My ... his

2. His ...their

3. Hers ... her

4. Your ... hers

Correct Answer :-

23) Choose the correct option to fill in the blanks in the given sentence.

You can buy these maps at__ bookstore since ____have them.
1. every, each

2. any, all

3. several, many

4. some, little

Correct Answer :-

24) Read the sentence carefully and choose the option that has an error in it:

The food was fit for a king.
1. was fit

2. The food

3. for a king.

4. No error

Correct Answer :-

e No error



25) Choose the right tag:

Don’t forget to turn off the projector before you leave the class, ?
1. don’t you

2. wouldn’t you

3. doyou

4. will you

Correct Answer :-

» willyou

26) Fillin the blank with the correct option in the given sentence:

A tank or pool for water animals and water plants is an --rium.
1. dyna --

2. bacte --

3. stad --

4. aqua --

Correct Answer :-

27) Fillin the blank with the correct option in the given sentence:
The father divided the property thought-- between his children.
1. --ful

2. -fully

3. --ed

4, --less

Correct Answer :-

28) Fill in the blanks with the best set of options in the given sentence.



When we visit museums in other countries, we usually to go in, but when foreigners come
to England, they by the taxpayer.

1. had to pay , were subsidized
2. have to pay , are subsidized
3. must be paid , were subsidized

4. can pay , subsidize

Correct Answer :-

» have to pay , are subsidized

29) Choose the option that substitutes the given phrase appropriately.

Influence or power, especially in business or politics
1. Big wig

2. Clout

3. High heeled

4. Boss

Correct Answer :-
e Clout

30) Choose the right tag:

Your boss must know the reason, ?
1.isn't he

2. mustn't he

3. must he

4. doesn't he

Correct Answer :-

¢ mustn't he

Topic:- General Hindi(L2GH)

1) 1T g2
i ¥§ X8 AT gI?



Pifrd A at!

T |Tl 812

Tow fpaeT 82

PIfha aiar an

FAl FTel SARIT F R A,

TP, TRY, TeART P S H,

ST #) 3 T8 U HR @,

A WY 34 T8, asu e -
e W 3re AR T U B,
U 8,91 T BT YHTG T80T 82
fen o= AR &% 9@ e ot St
39 GHY Hfermadt sft ot siet?
FIi g UST?

1 S arelt ;

PIfpa arar !

T IET?

qgd aHg Bt

Rgarat 4,

Pifrd dal dh

ST U= FI UgHR A1 U 7T UY T 30X IA13:
URH- Hfd Ht SRIEN | {5 & |1 7471 7971 32
1. ST IR ICHRI & 1Y

2. Difbd & 1Y

3. Q¥R Siddl & 1Y

4. BTl HaRT & 1Y

Correct Answer :-

. 3P IR TCHRI & 1Y

T |1l 812

Tew fraep1 82

PIfpa arar an

FHl FTel SARI F R A,

TP, TRY, TeART B S H,

S P ¢d T8 e W= @,

A WY 34 &Y, asu e -
e W 3e A w1 U B,
URI 8,31 dH BT UHTT TER 82
fen o= AR & 9@ e ot St
39 GHY Hferaradt sft o4t sl
Il g USh?

AT S aret 3;



Fifpa grarar

TG

qgd 3UT B

IEarar 4,

Fifea grar an

1 g5 Sraal?

ey &Y i,

Pifpa Sarar

5 qraTa @t waTemt € i
Pifpd aral an

IUYa TR B Ugh A Y& T UY BT IR 9d153:

TS I Ul TGP Ja1s€ [ 31 3l wai o2
1.7 H
2. Y

3. R H
4. HRIAT H

Correct Answer :-

. BRI H

TRA H 3 7Y, dIsU I8 S

Wee W 9@ A w1 g @,
U & 91 T PTYHTG T80T 82
feu = R &3 9@ 3« ot ot
39 99y et sft at sreft?
il g uSh?

AT Fig aredt Y,

PIfha e ar!

T GET?

qgd 3Uq B

TGt o,

PIfhad dral an

FI1 g8 qIgar?

31ty &Y <,

PIfpa e ar!

4 graTa 9 waTay § i
PIfpa arar an

ST YR B UgHR A1d U 7Y UY T ST IA134:

U- Hfd P Siia- R frae! s g?
1. I 3ieR P



2. Hid &I
3. HIcH GIaRI B
4. HS UG B

Correct Answer :-

.+ FYURD

T ATl 812

Tow fpaaT 82

Pifrd dia i

Sl Pl HARI F R H,

1%, IR), TCURT & SY H,

ST #1 3 81 U HR @,

TRA t 39 781, dsU I8
Wee W 9@ A w1 s 8,
U & 91T PTYHTG T80 82
feu = R &% 9@ e ot ot
39 99y et sft at siet?
w4 g TS

AT i arelt H;
Pifrd et dr !

T GET?

qgd 3Uq B

REGE I T

Pifrd diel

1 g5 S1aat?

Ry 3 A,

T FR ST A RTIBS R &
1. $gl SE B

2. BB g7

3. frat Tew @ g

4, H G

Correct Answer :-

. g dew s g



Jex fpaaT 82

PIfhd dral an

Sl Pl HARI F R H,

1%, TRY, SeART B SN H,

S B ¢ T8l Ue W= @I,

TR t 39 7Y, d8U I8 S
Wee W 9@ A w1 s 8,
U & 91 T T YHTG e 82
feu o= R &% 9@ e ot St
39 99y et sft «at srel?
FIl b TST?

AT Fig aredt Y,
PIfha e ar

T GET?

qgd 3Uq B

REGE I T

PIfpd el an

FI1 g8 IIgar?

31ty &Y <,

PIfha el

fra graTa 3 waTems & it 2
®ifed graran

ST YR B UgHR Ai1d T 7Y UY T ST I134:

- "SIaFd", g BT YIiaardt ga1su?
1. U T A7ad

2.39d

3. ST Dl 3T

4. g P ST

Correct Answer :-
o« SITA BT 3T

T AT 812

Tew fraep1 82

HIfpd e an

Sl Pl AT F W H,

1%, IR, TCART & ST H,

ST B 3 T8 U HR @,

A 29 7S, dsu Ig =
ae W 3@ A w1 s 8,
UTE @ , a1 a9 BT UHTE TR 82
fen = AR &% 9 e ot ot
39 99y Hferaradt sift wat seil?
i gP uSI?

AT Fig aredt Y,

PIfpd arardar!

TG

qgd aUa Bt



U- "I, BT fardiarde® 2eg aarse?

1.39
2. Fae

3. (e
4. RTYT

Correct Answer :-

Sl Pl AR F N H,

1%, TRY, TeART B ST T,

ST #Y 3 81 U HR T,

A Wt & 1, as U ¥g W
ee W o@ A w1 s 8,
T @, a1 a9 BT UHTE TEIT 82
feu = R &% 9@ e ot Fret,
39 99y et sft wat srefl?
FIl b TSI?

AT S aredt Y,

PIfpa Sarar

TG

qgd aUa Bt

REGE I T

HIfpd e an

FI1 g8 IIgalr?

3ty &Y <,

Fifrd et dr !

f5a grara 3 waTem & it 2
PIfha arar an

ST U= F UgHR Ai1a T 7Y UY HT ST IA134:

- "qH", Xeq BT THHTY Weg FATST?
1. faarst

2. TWER

3. 3fERT



4. fF=T=M

Correct Answer :-
o 3T

&l Tl IaRI U H,

TP, ORI, TeART B S H,

S $ ¢d T8 e W @,

A Y 34 T8, asu e -
e W 3E AR e R R,
U 8,91 T BT YHTG T80T 82
feu o= AR &2 9@ e ot St
39 99T Hfermadt sft o4t siedt?
w4 g UST?

AT S arelt ;

PIfpa aarar

T GET?

qgd aHa Bt

Rgarat 4,

Pifrd dal dh

1 g5 Saal?

Ry B A,

PIfpa aarar!

fd g 91 waTe § R 2
Fifrd dial

ST IR B UgHR A1 T 7Y UY BT SR IA154:

UH- "gP", Xeg BT Y ga15Q?
1.9

2. gig1

3. U

4,.8%

Correct Answer :-



TP, ORI, TCART S S |,

S ® ¢ T8 e W= @M,

TR Y 4 &Y, dsu T§ WA

Wae W 3@ A w1 s 8,
UTE @ , a1 a9 BT UHTE TR 82
fen = R &% 9@ e ot ot
39 99y et sift way sreil?
FIl g TST?

AT S aredt H;

PIfpd arardar!

TG

qgd aUa Bt

IGarat 4,

PIfpa giar an

FI1 g8 IIgalr?

Ry B i,

PIfra Sarar !

f5a graa 3 waTeme & it 2
Pifrd diar dh

ST YIS DI UGH A Y& T UY BT IR 183

UE- "l Weg BT faeliv qemg?
1. et

2. At

3. el

4. HIcl

Correct Answer :-

Wtae W 3@ A w1 g §,
URI €, 31 dH BT UHTT TER 82
fen o= AR & 9@ e ot St
39 9HY Hferamadt sft o4t sl
FIi g UST?

AT S arelt H;

PIfpa aarar

TG

qgd aUa Bt

IFarat 4,

PIfha arar an

1 g8 IIaal?



SERTA @t A,

Hifpd aral i !

5 graTe @ saremt € i 2

Pifhd aral i

ST YR $ UgH< Ai1d T 7Y UY T ST I134:

U=H- "SIt v, Weg § TG Uy 9a1sU?
1. I

2. 75
3. 74

4. TS

Correct Answer :-

T dTell 812

Tew fraepr 82

PIfed el an

Sl 1ol AT F W H,

1%, TRY, TeART B ST T,

S ® ¢d T8 e W= @1,

TR Y T4 1Y, dsU I§ WA

S R 9@ G ST URNI &,
I €, 31 dH T UHTT TER 82
fen = AR & 9@ wra ot Fret,
39 JHY HerHradl St &t Smedl?
i gP USI?

1 S aredt H;

PIfed arardar!

TG

qgd aUa Bt

IFarat 4,

PIfpa aiar an

FI1 g8 qIaal?

Ry B A,

HIfpd arardar!

59 g $1 waTe § R 2
Pifrd del dh

IUY U Bl USHR -1 IS TT UY HT IR Iad154:

WH- Hfeal o Fn L e mar 32
1. G
2. ]

3. Uc W @I
4. HTCH Srar



Correct Answer :-

o UT HR @M

T |1l 812

Towr fraeT 82

PIfpa aiar an

&l prll SIaRI B H,

TP, TRY, TeART B ST T,

S B ¢ T8 e W @1,

A i 3 781, asu ¥ W
Wae W 3@ A w1 Usw §,
I €, 31 dH BT UHTT e 82
fen o= AR &2 9@ e ot St
39 9HY Hferaradt sft o4t sl
w4l g UST?

AT 9 aredt Y,

PIfpa aarar!

FTIET?

qgd aUa Bt

IGarat 4,

PIfpa arar an

1 g8 SIaal?

Ry B A,

PIfpa Sarar

59 g $ w9 § R 2
Pifrd dal

IUYT TR B Ugh A Y& T UY BT IR Iad184:

UH- 39 HfdT A I A T 3 Af¥w1fire =t &t 18 82
1. 1A
2. e
3. Ial
4, 9t

Correct Answer :-

FAOl el SARI F R A,
TP, ORI, TeART B S,
ST B 3 T8 U HR @7,



A Wt ¢ 1Y, as U Xg W

Wtee W 9@ AR w1 UswI §,
UG 8,91 T T YHTG T80T 82
fen = AR & 9@ e ot St
39 GHY Hferamadt sft ot sret?
FIi g TS

T S arelt ;

PIfpa aarar!

TG

g YT B

Rgarat I,

PIfha dral an

1 g5 S1aat?

Iy o A,

FIfpa aarar!

fd g 91 waTe § R 2
Fifrd diet i

IUa TR B Ugh 1 Y& T UY BT IR 9d154:

WH- 59 Hiddl § fh-1o SR & I | qa1d1 11 82
1. 81%, IR 3R TR &

2. Sl et ARl &

3. 3Gl WHR &

4. Pifbd b

Correct Answer :-
. IS WHR &

T ATl 812

Tow fpaeT 82

PIfha dral an

Sl prel AT F R H,

TP, ORY, TeARI S S H,

ST #1 3d 81 Ue HR @,
TR+ +ft 3 7Y, a5 U @ WA
Wee W 9@ A w1 g 8,
U & 91 T PTYHTG T80 82
feu o= R &3 9@ e ot ot
39 99y et sft i siel?
FI g TS

AT i arelt Y,

PIfha e

T I

qgd 3Uq B

REGE I T

Pifpd diet dah

1§35 Sraat?

31y &) <,
PIfha e ar!



frd graa ot sarang § feedh 2
Pifpa dar an
IUYe U= DI UGHR 17 IS 7T UY HT IR 9154

UE- 39 U @ HRd & {50 T0g &1 91 g1 82
1. R BT BT

2. T BT T

3. 3TSICl & &G DI

4. 3{TSTG} & Ugal &l

Correct Answer :-

. TSIl & UG &I

Wee W 9@ AR w1 Ugw §,
U 8,91 T BT YHTG T80T 82
fen o= AR & 9@ e ot St
3 GHY et sft ot siet?
i g uSI?

AT Sig arelt Y;

Pifrd Qe ar

T GET?

qgd YT B

Rgara I,

Pifrd diat

FI1 g8 qIaalr?

Ry o A,

Pifrd At dr !

f5H g 9 waTem € i
HIfpd e an

IUYa TR B Ugh A Y& T UY BT IR 9d153:

- S Hfadr H I M IET 3?2
1. 8

2. quTeT

3. 4R

4. PIOA

Correct Answer :-



16) TS Tuferd Ft fbed wraeil wR fea g3 &, i W A1 AR, <& Ffame i sy
Fiormy, g Aay de, are 3R 37 TRTaTS’, ¢ Afrwsw kit e oxfe | te SR sear
T Hedl § 1 U BT IR T2 & % 37191 firedl &t @ & wii, fawa aferss aim @ aax
ST O T UfaHT aTat Aafe b HEl T TR W 3R JEaaH TRATE & 1Y 39 Ihd ¢ | Jufera =
7 R firen e &1 Atwdaife ST sfew a=ie! $t it auT gul.oawit &1 disT| g8 PR 8! 8 fr =it
W afed, wgg a1 & R-aRrast 1 fren argdn 9 oy Twuteit & srarar Jufert o frent ur off guen
FRar ¢ | duferd s &1 a5 s=1 8 &l 3R A I8 Taar &ar ¢ 1% e oft Iar € A @ e 7 § oiv ofis
79 31 81 DI W} TS AT 7 A1 BT U SHUR GHAT UHG 51 SRl | TP IR, GO Gl B ool
S &1 de1 8141, a1g § HuTag T 3R A & uRTeu I Way HA1, sy, sienfie wifa, Yeiare
YT ATHARTE L T TR TP TS GRT GRGINT ST - 31 Had AUferd $t 4 Sha-g et o sxisufa g9
F TG 3T qP ITH 3¢ | HRAHT HaT R HiGd=Ial &1 H5 T} BT UdT 7, 398 I B3 79 BT fhdl
FATHIA B ATY-FTY IT AT FaRab o 7147 747 B, Sita= ® g9 ok fawng s g § a8 oaR @1 |t
TRPpias WRERTSH Bt AT 8, AfB-T H30N BT R W I5d 91 T T W-Riga ot afTr dear g st
YR RT3 # 76 freran | St 5oun @ 98 SR UgaaiaTal & e ofiv #aft-puR gt & R el 31
TP ATed § ot fagu® @ 98 Taaafaadl § $ Jearifordr %y Hdl g, fhg S0 3R g &1
IR I 81 81 30 HUR g0+ 3R geRl & +ft 3 &t 71T A1 vt ot =i UReda gy & oo o0
B o 3Tt B, St =elf & fpe &1 g wror 21

IUE TRIIRT B UGHR 19 U T UY HT IR 9a133:

>, <&t Bfae 3P STaey HieRTRY, € AaY e, AT FWR g4 AINEAATS,
ﬁuﬂw aﬁwmammaﬁmm%»

1. JE&HTH JRATG
2. IR U™
3. BT 3R ARG
4, YTTag TRIat

Correct Answer :-

17) Tt Buferd $t fbed ramei wR fea g3 8, i R Ad1 Ao, <& Ffame i siaer
Fiormy, g Aay de, are 3R 37 TRGaTS’, ¢ Afrwsw okit v oxfe @ te SR sear ot
T Hedl § | AU BT IHPR T2 & % 37191 firedl &t urera & wii, fawa aferss aim @ aax
STIETS S HET UfaHT aTat Aafe b HEl To TR W 3R JEaaH IWRATE & 1Y 3@ Jhd ¢ | Jufera =
T R firen e &1 Atwdaite ST sfep a=id! Bt a7l auT qul-aawT $i disT| 8 PR 81 8 fF =it
W fe, wgg a1 7 R-aRast 1L fren argdn 98 oy TRuTaHt & srarar Jufer » frent ur off gaen
Fval ¢ | Auferd s &1 a5 5= 8 &l 3R W I8 Taar &ar ¢ 1% e oft Ia-r € A @ e 7 § ok ofis
79 3l 81 DI W} TS AT 7 A1 BT U SHUR FHAT UHG 6] PRl | TP IR, GO Gl B ool
S &1 de1 811, a1g § HuTag T 3R A & urTeu I Way HA1, Iy, sienfie wifa, Yeiare
TYT ATHARME | TR TH JHTS GRT GIGRTAT ST - 31 TG AR $1 3 Sha=1-uey firat ot stsufa g
F TG A qP ITH 3¢ | HRAHT HaAT 3R HiGU=MAl B H5 T BT UdT 7, ST8 I B3 791 BT fhdl
FATHIA B ATY-TTY IRT AT FoRab o 7147 747 B, Sfte= ® g9 ok fawne s g § a8 oaR @1 art
TRPpTa® WRERTSH B ATgH B, AP Foun &1 gRY W 9ga 91 U T T-Rigr= &Y AT Har g o
YR IRERTSH § 81 Fyedn| Sl $9un § 98 3R Agadfaadl & g iR & -sHR goi & fg gkt 31
T ATed § ot fagu® @ 98 Taafaadl § $© Jearifordr %y Hdl g, fhg S0 3R R &1
RTS8 T8l 81 30 SR g+ 3R gt # oft 31 &t ure] U1 v+ @t 2ifad Wk fagus A go oa
B o 3Tt B, St =elf & fpe &1 g wror 21

SUYH T P TGy e TW Y 74 BT IR Ia1g4:



- B I1ell Aufer o1 fbedl U gHe1 $d 32
1. S 3% U= el B

2. S SRS Bl e a1 & |

3. S TR-sRTeR} &) e =med B

4. S TR-SR1&S) &1 g1 e asd g

Correct Answer :-

o S TR-SRTERY BT 8T e amgd B

18) Tl Tuferd Pt fbed uraeii wR fed g5 8, IfS W =1 Aoy, <& Ffame T siaer
Fiermiy, g A9y de, are TR 37 TINTETS’, ¢ Afrwsw kit e gxfe & T Swar spar o
AT Hel 81 AUl BT TR T8 8 % 391! fvenl &t urrera™ & wdiel, fawa aferss aim @ aws
TSI O HET UfAHT aTa Aafe b HEl T TR W 3R JEaaH IRATE & 1Y 3@ Ihd ¢ | dufera =
9 Rk fired Fe Y Apdie a1 afed gxie! B aif qur gui-sgaxr &) ST a8 SR =8 § fb =it
WY aafe, ae a1 o R-sRrat =81 fren arear ag o=y TRATSii & remar Fufer o1 fre w off gHen
Pl g1 duferd Wis &1 a8 =1 @ Wil 3R | T8 Taar &a & % 7o it Ia-r € 5 @ Ra 7 § ik ofis
79 ¢l 31 PIg W} ATHS T 7F F1 BT U SHUR FHAT UHG 6] Pedl | TP TR, GO Gl B ol
SR &1 der 81, a1g § HaTag T 3R A & urTeuH | ay HA1, Iy, sitenfie wifa, Yeiare
TYT ATHARMEY A TR TH TS GRT GG ST - 31 I AU $i 3 Sia=1-uea firet it stsufa g
F TG A aP ITH I8 | HRAH Har R A=l &1 H5 70 61 UdT 8, 399 A B3 39 &1 fdt
FATHIA B ATY-TTY IRIT ST FReb W |71 747 B, Siia= | g ok fawne s 35 § a8 oar ot art
TRPpTa® RERTSH B ATgH 7, AP Houn &1 gy W 9oa 91 U T T9-Rigr &) aiT ar g o
YRR RS § T8 frean| <t $oun 8 98 SRR Ggaafaal & e ok #f-sur got & R gt 31
P A1e | St fAgue § 98 AoreafeRaal § o dqafaforal sraxa $3di 8, fbg Foum 3k g &1

A 3TH 81 81 30 SR 9 3R gy H off 3 #1 Arey UeT A Y vifed R fagyes & oo #u
B o 3Tt B, St =edf & fpet w1 q@ wror 21

IUYe TRIRI B UgH 19 D T Uy HT IR 9d133:

TH- HH-Ht fagiaar o uRda fagus o &0 Tor 3rdl 8, 5 ardf dufer & e &1 wror 32
1. THO BT 3R g | fRry

2. TN 3R T BT FHor

3. HOUN 3R TG | Ty

4. AWGRER H faH1g B

Correct Answer :-

. HIUT 3R Y BT JTHO

19) TS Tuferd Ft fbed uraeil W fed g3 8, IfS R A1 A, <& Ffame I siaer
Fermdd, g Ady WA, are 3R 37 TITAETS’, g Afpwa kil fra axfe A te Sw=ar sear @
AN Hel 8 | Ul &1 TP R T8 § for 399 fhel &) urrae™ & wiiel, faea aferss aim @ das:
STFETS S HET UfaHT aTat Aafe b HEl T TR W 3R JEaaH IWRATE & 1Y 39 J&hd ¢ | Jufera =
9 b fper wer & AP diie a9 9fep gxie! Y ot Gyt qui-saawi Y disT1 a8 rprRur Tl 8 fh =it
W fed, wgg a1 7 R-aRrast 1 fren argdn 98 oy Twuteit & srarar Jufert & frent ur off gaen
&1 8 | AuferT s &7 98 9=31 8 St 3R | I8 Fdan gt ¢ & o W San 1 < @ g A § ok Wi
79 31 81 DI Y TS AT 7 FA1 BT U FHUR THAT UHG 51 PRl | TP IR, GO Gl B ool



SfHAA BT 9T g1, 91g | WATdE TR SR AT & Uy | Hud ST, JrHred, SNt sifd, geiiarg
TYT ATHARME A TR TP TS GRT GG ST - 31 9 AUfe $i @ Sita=1-qea firet ot stsufa g
F TG A aP ITH 3¢ | HRAHT Far R Hied=mal &1 $5 T BT UdT 7, 398 | B3 79 &1 fhdt
FATHTA B JTY-ATY IT T o ¥ 7147 747 B, Sfa= # g9 ok fawrg ama 84 § ag 9arR @1 art
TRPTaP RERTSA B ATGH 7, AfHT Fou &1 U T gea 91 U T T9-Ragm=a &1 i war g o
YRR RT3 § 1 fyedn| <t $9un § 98 3R Ggaafaadl & g ok #f-sur goi & fg gt 31
TP d ATed | ol [Igu® g 98 Voaafaadl & $© gearuforl $azd &l 8, fbg svom 3R g &1
ﬂmﬁwmqﬁ%mﬁw?ﬁaﬁ?@ﬁﬁm%mﬁwﬁmmﬁaﬁﬁmﬁgﬁﬁwm
B ToR 3Tt 8, S |reff & et o1 q@ wor 21

ST T B Ugh? -9 YD T Uy BT ITR ga133:

U- HRUH el T4 Hi-GaRIed | {8 S 711 T
1. 79 RIga &l

2. B X I THAY T

3. HUN D1 gPl & fa T

4. et A1 qHg H IR-SRIa

Correct Answer :-

. s T BT THIY T

20) a1l Jufer Ft fred utaeei W feat g3 &, If R 7| ARy, <& Ffane ITw siaer
Fiormy, g Aay de, are TR 37 TRTaTS’, ¢ Afrwsw kit v oxfe & te Swar s @t
AT He &1 AUl T TR T8 8 % 3919) frenl & urreram & wdien, e aferss aim @ aws
JATFETZ O HET UfAHT aTd Aafe b HEl T TR W 3R JEaaH IRATE & 1Y 3@ Ihd ¢ | dufera =
9 Rk fired & Y Apdie a-ma1 afed gxie] B aif qur gui-saaxT &) ST I8 SR =8 © fb =it
WY fe, age a1 o9 R-aRradt =81 fren argar ag o=y IATSi & Sremar Jufer o1 frer w off gHem
Pl g1 Tuferd Wis &1 a8 T=1 @ Wil 3R | T8 Taar &ar @ 1% e it Ia-r € 5 @ Ran A § oik ofis
79 ¢l 31 DI W} ATHS T 7F F1 BT U SHUR GHAT UHG 61 Pedl | TP TR, GO Gl B ol
SR &1 der 814, a1g § HuTag T iR A & urTeuH | Way HA1, ISy, sitenfie wifa, Yeiare
TYT ATHARME T TR TH TS GRT GIGRTAT ST - 31 TG AU $t 3 Sia=1-uea et it stsufa g
P SIaY[G 3id dP 30 ¥ | YRAIT HaT 3R TRl Bt &5 341 BT UdT 3, 3790 A 3 39 &7 fhat
FATHIA B ATY-TTY IRIT AT FRB o 7147 747 B, Sia= | g9 SR fawne s g § a8 9ar @1 art
TRPpTa® RERTSH B ATgH 7, AfH-T Houn &1 Ry W 9oa 9H1 U T T4-Rigr=a &) i ar g o
YR RERTSH & 7Y firerdn| <t $oun § 98 SRR Sgaafaadl & fig ok $ft-suR gol & g gt 81
P d A1e | St fIgue § 98 Aoredfeadl § o dqafaforal sraxa $3di 8, fbg Foum 3R g &1

A 3TH 781 81 3 SR 0 3R gy H ot 31 &1 Arey Ue A Y vifed Ry fagys oo #4
B o 3Tt B, St =elf & fpet w1 @ wror 21

IUYe TRIRI HY UgH 19 IR T Uy HT IR Id138:

U HIReH fague Ierafaadl & 1Y 1 AagR HaT 82
1. SgaHrst

2. ST

3. YHMYA®
4. RIS

Correct Answer :-



21) Tl Fufer #t e uraamei W feat g3 €, If R =1 ARy, <& Ffame i siaer
Fiormy, g Aay de, are 3R 37 TRTaTS’, ¢ Afrwsw oRit v oxfe @ te S sear
UM Hedl 31 Ul &1 TR T8 8 6 3@ fivedl &) unTea™ & wiieh, fawa afvrss am | aas
STIETZ O HET UfaHT aTa Aafe b FEl T TR W 3R JEaaH IRATE & 1Y 39 Ihd ¢ | Jufera =
7 R firew e &1 Atwdaife ST afew o=ie! St a7l guT gul.caawt &1 disT| g8 PR A8 8 fr =it
W fd, wgg a1 & R-aRrast 1 fren argan 9 oy Iwuteit & srarar Jufert o frent ur off guen
FRal g | Auferd s &1 a5 3= 8 &l 3R W I8 Faar &ar ¢ 1% e oft I € A @ e 7 § ik ofis
79 31 81 DI W} TS AT 7 A1 BT U SHUR FHAT UHG 5] PRl | T IR, GO Gl B ool
SR &1 de1 8141, a1g § HuTag T 3R A & uRTeu I Way HA1, ISy, sienfie wifa, Yeiare
YT ATHARME L T TR TP U GRT GRGRNT ST - 31 Had Auferd $i 4 Sia-g et o sxigufa g9
F qraY[g 3T qP ITH 3¢ | HRAHT HaT R HiGU=Ial &1 H5 T BT UdT 7, ST8 I B3 9] BT fhdl
FATHIA B ATY-FTY IRT AT FaRab o 7147 747 B, Sita= ® g9 ok fawng sima g § a8 9aR & |t
TRPpTa® RIS B ATgH B, AP Foun &1 gy W 9ga 91 U T T9-Rigr= &Y @i Har g o
YR RT3 § <76 freran | St 590N @ 98 SR ugaataTal & e ofiv #aft-puR goi & e gl 31
TP ATed § ot fagu® @ 98 Taaafaadl § $ Jearifordr %y Hdl g, fhg U 3R g &1
IR I 81 81 30 SHUR g0+ 3R goRl & +ft 3 &t w1y A1 vt ot =ifo UReda gy & oo o0
B o 3Tt B, St =l & fpe &1 g wror 21

ST TR Y USHR 1 UD T Uy o1 I<R Ta1sd:

WRA- AT dufer St AT uRee A, o & r s 82
1. ST B8 A7

2. o ufa Bt gy gS |l

3. forges ufa A sig fear gl

4, Il 3FUE B

Correct Answer :-

. P ufq A Se fear

22) ATl AU F fbed yramrel W feast g% €, 3f R A1 Aduifery, <& HfaRe oifw siaex
FiermY, g Ady WA, are TR 37 AIRTATTS’, ¢ Afhwga il e axie A e SR sear &
T H<dl 8 1 U BT IR T8 & % 391! frenl &t urera™ & wii, fawa aferss am @ aax
TS O AT Ufa T aTat aafR b FEl T TR W 3R JeAaH TGS & 1Y 39 Jha ¢ | Jufera A
7 R fire wen &1 Atwdite ST ST g=AD| Bt a7 GUT JUI-TGRIT B ATST| g APRYT 81 ¢ fb &
1} safe, W a1 oF AR-SRIE A& e argdn a8 o=y I3 & 3rarar Jufer &t fpen ux oft gwen
Fd1 8| Auferd s &1 98 a1 § ol 3R A 98 Taar &a1 8 fop e Wi a=n §t 5w @ Rraar A § sk ofis
&9 3t 31 DS W WS 1 & a1 BT 30 FHUR FHAT UHS ] BT | U URedal, gR ol b e
A &1 de1 g1, 91 § YaTag TR 3R AT & unTeud | TuY ST, JraTed, i wifd, Yeftarg
TYT ATHARME A TR TH TS GRT GIGRTAT ST - 31 TG AUF $t @ Sia=1-qea firet it stsufa g
F FIASg S aP IT4 I3 | YRR HaT 3R W gd=al &1 $3 31 BT UdT 8, 378 A B3 741 b7 fHhat
ARG B JTY-HTY G711 FaRep ¥ 717 747 B, Sfa= # g9 ok fawrg sma 84 § ug IarR &1 it
TRPTaP RERTSH B ATGH 7, AfH-T HouN &1 Y W 9ea 91 U T T9-Rigr=a &) 4T war g o
YRS RT3t § 1 fyerdn| <t $oun § 98 3R Ggaafaal & e ok #f-sur goi & R gt 31
TEpd ATed | ot [Igu® 3 98 Voaafaadl & $© geafiforal 3aza ol 8, fbg svom 3R g &1

RIS SHH 81 81 304 SR 5 3R gaRi # ot 31 §t 71 UaT Hv+ @1 Mfad YR fagus & oo o0
B ToR 3Tt 8, S arelf & fpesl ST @ wor 81

SR T B UGHR -1 I T Uy BT S<R qa133:



URH- ITdl Sufer= &t AT Saa9rg § &1 A2
1. RRrferemt
2. W S

3. Blaex
4. fore AT

Correct Answer :-

. W AT

23) a1l Jufer #t fred utaanai W feal g3 &, IfS R =E | Aoy, <& Ffane 3ITw siaer
Fiormy, g Aay de, are TR 37 TINTaTS’, ¢ Afrwsw kit fred gxfe I te Swar sar o
AT Hel 81 AUl BT TR T8 8 % 391! fvenl &t urrera™ & wdiel, fawa aferss aim @ aws
TSI O HET UfAHT aTa Aafe b HEl T TR W 3R JEaaH IRATE & 1Y 3@ Ihd ¢ | dufera =
9 Rk fired Fe Y Apdie a1 afed gxie! B aif qur gui-sgaxr &) ST a8 SR =8 § fb =it
WY fe, age a1 o R-aRrat =81 freTn arear ag o=y TRATSi & remar Fufer o1 frer w off gaen
Far g1 Tufer Wis &1 a8 =1 @ Wil 3R | T8 Taar &a @ % 7o it Ia-r 8 5 @ Ra 7 § sik ofis
79 ¢l 31 DI W} ATHS T dF F1 BT U SHUR FHAT UHG 6] Pedl | TP TR, GO Gl B ol
SR &1 der 81, a1g § HaTag T 3R A & urTeuH | ay HA1, Iy, sitenfie wifa, Yeiare
TYT ATHARMEY A TR TH TS GRT GG ST - 31 I AU $i 3 Sia=1-uea firet it stsufa g
F TG A aP ITH I8 | HRAH Har R A=l &1 H5 70 61 UdT 8, 399 A B3 39 &1 fdt
FATHIA B ATY-TTY IRIT ST FReb W |71 747 B, Siia= | g ok fawne s 35 § a8 oar ot art
TRPpTa® RERTSH B ATgH 7, AP Houn &1 gy W 9oa 91 U T T9-Rigr &) aiT ar g o
YRR RS § T8 frean| <t $9un 8 98 SRR Ggaafaial & e ok f-sur got & g gt 31
P A1e | St fAgue § 98 Aoreafeaal § o dqafaforar sraxa s 8, fbg Houm 3k g &1

A 3TH 81 81 30 SR 9 3R gy H off 3 #1 Arey UeT A Y vifed R fagyes & oo #u
B o 3Tt B, St =edf & fpet w1 q@ wror 21

IUYe TRIRI B UgH 19 D T Uy HT IR 9d133:
WH- ATelt Jufer 3t fired fva wr fewbt B2

1. foaRI &R

2. AIel W)

3. HIGTS IR

4. PHST W

Correct Answer :-

o YIS R

24) Tl Jufer # e uraaei W feat g3 €, If W =1 ARy, <& Ffame Ifw SR
Fermdd, g Ady WA, are 3R 37 TITAETS’, g Afpwa kil fra axfe A te Sw=ar sear @
AN Hel 8 | Ul &1 TP R T8 § for 399 fhel &) urrae™ & wiiel, faea aferss aim @ das:
STFETS S HET UfaHT aTat Aafe b HEl T TR W 3R JEaaH IWRATE & 1Y 39 J&hd ¢ | Jufera =
9 b fper wer & AP diie a9 9fep gxie! Y ot Gyt qui-saawi Y disT1 a8 rprRur Tl 8 fh =it
W fed, wgg a1 7 R-aRrast 1 fren argdn 98 oy Twuteit & srarar Jufert & frent ur off gaen
&1 8 | AuferT s &7 98 9=31 8 St 3R | I8 Fdan gt ¢ & o W San 1 < @ g A § ok Wi
79 31 81 DI Y TS AT 7 FA1 BT U FHUR THAT UHG 51 PRl | TP IR, GO Gl B ool



SfHAA BT 9T g1, 91g | WATdE TR SR AT & Uy | Hud ST, JrHred, SNt sifd, geiiarg
TYT ATHARME A TR TH TS GRT GIGRTAT ST - 31 TG AUFe $i @ Sita=1-qed firet ot stsufa g
F ATaY[g A aP ITH 3¢ | HRAHT Far R Hied=mal &1 $5 T BT UdT 8, 398 I B3 79 &1 fhdt
FATHTA B JTY-ATY IT T o ¥ 7147 747 B, Sfa= # g9 ok fawrg ama 84 § ag 9arR @1 art
TRPTaP RERTSA B ATGH 7, AfHT Fou &1 U T gea 91 U T T9-Ragm=a &1 i war g o
YRR RT3 § 1 fyedn| <t $9un § 98 3R Ggaafaadl & g ok #f-sur goi & fg gt 31
TP d ATed | ol [Igu® g 98 Voaafaadl & $© gearuforl $azd &l 8, fbg svom 3R g &1
ﬂmﬁwmqﬁ%mﬁw?ﬁaﬁ?@ﬁﬁm%mﬁwﬁmmﬁaﬁﬁmﬁgﬁﬁwm
B ToR 3Tt 8, S |melf & el ST @ wor 21

ST T B Ugh? -9 YD T Uy BT ITR ga133:

- Tl & AR TS AU BT THPR HIH-9T1 82
1. 3! e YR T Riga & & |

2. 39! hedl H ST 5|

3. 3@ fthed AARS® g

4. 3G Fhe @ Tl TR F T TRATE X Tl B

Correct Answer :-

. 3G et T g TR & TN IRAIE PR IHd g |

25) Tl Jufer #t fred utaenei W feat g3 &, IfS R =E | ARy, <& Ffame 3w siaer
Fiormy, g Aay de, are TR 37 TRTaTS’, ¢ Afrwsw kit v oxfe & te Swar s @t
AT He &1 AUl T TR T8 8 % 3919) frenl & urreram & wdien, e aferss aim @ aws
JATFETZ O HET UfAHT aTd Aafe b HEl T TR W 3R JEaaH IRATE & 1Y 3@ Ihd ¢ | dufera =
9 Rk fired & Y Apdie a-ma1 afed gxie] B aif qur gui-saaxT &) ST I8 SR =8 © fb =it
WY fe, age a1 o9 R-aRradt =81 fren argar ag o=y IATSi & Sremar Jufer o1 frer w off gHem
Pl g1 Tuferd Wis &1 a8 T=1 @ Wil 3R | T8 Taar &ar @ 1% e it Ia-r € 5 @ Ran A § oik ofis
79 ¢l 31 DI W} ATHS T 7F F1 BT U SHUR GHAT UHG 61 Pedl | TP TR, GO Gl B ol
SR &1 der 814, a1g § HuTag T iR A & urTeuH | Way HA1, ISy, sitenfie wifa, Yeiare
TYT ATHARME T TR TH TS GRT GIGRTAT ST - 31 TG AU $t 3 Sia=1-uea et it stsufa g
P SIaY[G 3id dP 30 ¥ | YRAIT HaT 3R TRl Bt &5 341 BT UdT 3, 3790 A 3 39 &7 fhat
FATHIA B ATY-TTY IRIT AT FRB o 7147 747 B, Sia= | g9 SR fawne s g § a8 9ar @1 art
TRPTa® RAERTSH B ATgH 7, AfH-T Houn &1 T W 9ea 91 U T T4-Rigr=a &) AT ar g o
YR RERTSH & 7Y firerdn| <t $oun § 98 SRR Sgaafaadl & fig ok $ift-suR gol & R gt 81
P d A1e | St fIgue § 98 Aoredfeadl § o dqafaforal sraxa $3di 8, fbg Foum 3R g &1

A 3TH 81 81 3 SR T 3R gy H ot 3 #1 Arey Ue A Y vifed R fagys § 3o #4
B 7o 3Tt B, St =elf & fpet w1 q@ wror 21

IUYe TRIRI HY UgH 19 IR T Uy HT IR Id138:

TH- TR 3t IRI Giepiad TRERTSH o1 1 ATeH 872
1. Sfta & g9 3R fawre o 38 g

2. TR &l BT IR B

3. ATl <ufer HeH fheddR Ul

4, YR fagues & arell <uferm SR fasivar 6t |

Correct Answer :-



. SitgeT H gY 3R faure 3imd I5d 8|

26) TSl Jufer #t e uraei W feat g3 €, If W =1 ARy, <& Ffame i siaer
Fiormy, g Aay de, are 3R 37 TRTaTS’, ¢ Afrwsw oRit v oxfe @ te S sear
UM Hedl 31 Ul &1 TR T8 8 6 3@ fivedl &) unTea™ & wiieh, fawa afvrss am | aas
STIETZ O HET UfaHT aTa Aafe b FEl T TR W 3R JEaaH IRATE & 1Y 39 Ihd ¢ | Jufera =
7 R firew e &1 Atwdaife ST afew o=ie! St a7t guT gul.aawit &1 disT| g8 PR 8! 8 fr =it
W fed, wgg a1 7 R-aR1as 1 fren argdn 98 oy TRutait & srarar Jufert o frent ur off guen
FRarl g | Auferd s &1 a5 3= 8 &Il 3R W I8 Taar &ar ¢ 1% e oft I € A @ e 7 § oiv ofis
79 31 81 DI W} TS AT 7 A1 BT U SHUR FHAT UHG 5] PRl | T IR, GO Gl B ool
SR &1 de1 8141, a1g § HuTag T 3R A & uRTeu I Way HA1, sy, sienfie wifa, Yeiare
YT ATHARME L & TR TP U GRT GRGINT ST - 31 Had Auferd $i 4 Shia-g et off sxigufa g9
F AraY[g 3T qP ITH 3¢ | HRAHT HaT R HiGd=Ial &1 $5 T BT UdT 7, 378 I B3 79 BT fhdl
FATHIA B ATY-FTY IT AT FaRab o 717 747 B, Sita= ® g9 ok fawne s g § a8 9aR @ art
TRPpTa® RIS B ATgH B, AP Foun &1 gy W 9ga 91 U T T9-Rigr= &Y @i Har g o
YR RT3 § <76 freran | St 590N @ 98 SR ugaataTal & e ofiv #aft-puR goi & e gl 31
TP ATed § ot fagu® @ 98 Taaafaadl § $ Jearifordr %y Hdl g, fhg U 3R g &1
IR I 81 81 30 SHUR g0+ 3R goRl & +ft 3 &t w1y A1 vt ot =ifo UReda gy & oo o0
B o 3Tt B, St =l & fpe &1 g wror 21

IUE TRIIRT B UGHR -9 U T U HT IR 9d133:
WRH- TN & SJUR $Ig TS AT o T Y ) Hear

1. SIFdT T T Uleld :fﬁ
2. SFAT B A W

3. ST BT 30 HUR GOl
4. ST 1 g g

Correct Answer :-

27) ATl AUl # el yramrel W feat g8 €, 3f R A1 Qv <& HfaRe oifw sidex
FimY, g Ady WA, are TR 37 AIRTATTS’, ¢ Afhwga ofl e axie A te Sw=ar seary &
T H<dl 81 AU T TR T8 & % S9! frenl &t urrera & wii, fawa aferss am @ aax
TS O AT Ufa T aTat aafR b FEl T TR W 3R JeAaH TGS & 1Y 39 Jha ¢ | Jufera A
7 R fire wen &1 Atwdite ST ST g=AD| Bt a7 GUT JUI-TGRIT B ATST| g APRYT 81 ¢ fb &
1} safe, W a1 oF AR-SRIE A& e argdn a8 o=y I3 & 3rarar Jufer &t fpen ux oft gwen
Fd1 8| Auferd s &1 98 a1 § ol 3R A 98 Taar &a1 8 fop e Wi a=n §t 5w @ Rraar A § sk ofis
&9 3t 31 DS W WS 1 & a1 BT 30 FHUR FHAT UHS ] BT | U URedal, gR ol b e
A &1 de1 g1, 91 § YaTag TR 3R AT & unTeud | TuY ST, JraTed, i wifd, Yeftarg
TYT ATHARME A TR TH TS GRT GIGRTAT ST - 31 TG AUF $t @ Sia=1-qea firet it stsufa g
F FIASg S aP IT4 I3 | YRR HaT 3R W gd=al &1 $3 31 BT UdT 8, 378 A B3 741 b7 fHhat
ARG B JTY-HTY G711 FaRep ¥ 717 747 B, Sfa= # g9 ok fawrg sma 84 § ug IarR &1 it
TRPTaP RERTSH B ATGH 7, AfH-T HouN &1 Y W 9ea 91 U T T9-Rigr=a &) 4T war g o
YRS RT3t § 1 fyerdn| <t $oun § 98 3R Ggaafaal & e ok #f-sur goi & R gt 31
TEpd ATed | ot [Igu® 3 98 Voaafaadl & $© geafiforal 3aza ol 8, fbg svom 3R g &1

RIS SHH 81 81 30 SR 5 3R gaRi # ot 31 §t 71 UaT Hv+ &1 Wfad YR fagus & oo 0
B ToR 3Tt 8, S ameff & fpesl ST @ wor 81

SR T B UGHR -1 I T Uy BT S<R qa133:



- TR & SR W R fea a1 82
1. %

2. ST

3. 3RS

4, HRd

Correct Answer :-

28) TTdl Aufer #t fved utaaai W fewt g3 &, IS R 71| Aoy, <& Ffame 3ITw siaer
Fiormiy, g A9y de, are TR 37 TINTaTS’, ¢ Afrwisw kit e gxfe & T Swar sar o
AT Hel 81 AUl BT TR T8 8 % 391! fvenl &t urrera & wdil, fawa aferss am @ awx
JATFETS O HET UfAHT aTa Aafe o HEl To TR W 3R JEaaH IRATE & 1Y 3@ Ihd ¢ | dufera =
9 Rk fired wer Y Apdie a-ma1 afed gxie] 31 aif gyt gui-sgaxr &) ST a8 SR =8 © fb =it
WY afe, ae a1 o R-aRradt 781 freTn arear ag o=y TRATSi & Sremar Jufer o1 frer w off gaen
Pl g1 Tuferd Wis &1 a8 =1 @ Wil 3R | T8 Taar &a & % 7o it Ia-r 8 5 @ Ra 7 § sik ofis
79 ¢l 31 DIs W ATHS T 7F F1 BT U HUR FHAT UHG 6] Pedl| TP TR, GO Gl B ol
SR &1 der 814, a1g § HaTag T 3R A & urTeuH J Way SA1, ISy, sitenfie wifa, Yeiare
TYT ATHARME A TR TH TS GRT GIGRTAT ST - 31 TG AU $1 3 Sia=1-4a et it stsufa g
F TG 3id aP ITH I8 | HRAH Har R A=l &1 H5 70! 61 UdT 8, 399 A B3 391 o1 fdt
FATHIA B ATY-TTY IT ST SRb |71 747 B, Sita= | g9 ok fawne s g § a8 9ar ot art
TRPpTa® RERTSH B ATgH 7, AfH-T Houn &1 Y § 9ea 91 T T T-Rigr=a &1 aiT ear g o
YRS RS § 8 frean| it $oun 8 98 3R Ggaafaal & e ok f-sur got & g gt 31
P d A1e A St fAgue § 98 Aoreafeaal § o dqataforal sraxa $3dr 8, fbg Houm 3k g &1

A 3TH 81 81 30 SR 9 3R gy H off a1 1 Arey Ue 33 Y vifed Ry fagys oo #d
B 7o 3Tt B, St =edf & fpet w1 q@ wror 21

IUYe TRIRI HY USHR 19 D 7T Uy HT IR Id133:
WH- ATt Jufer 3t fred q@er ofis wf 59 dalt 82
1. Fifer ITH a8 fagy® sAar gl

2. TS I TS Y RISl B

3. T 98 o & FEariiel FRaT 2|

4. T T T B N ST 8|

Correct Answer :-

. b 98 I B! M FATAT Bl

29) Tl Jufer #t fred uraeai W feat g3 €, If W =1 ARy, <& Ffame Ifp SR
Ffery, g A9y Wer, ‘are FWR 57 AR, ¢ AP Bsa Jf e gxie A ve I=ar 3wy
AN Hel 8 | Ul &1 TP R T8 § fop 399 fhel &) urrae™ & wiiel, faea aferss aim @ das:
STIETS S HET UfaHT aTa Aafe a0 HEl T TR W 3R JEaaH IWRATE & 1Y 3@ Jhd ¢ | Jufera =
9 b fpen & &t AP diie a9 9fes gxie! Y it gyt qui-saawit Y disT1 a8 rprRur Tl @ fh =it
W fe, wgg a1 9 R-aR1ast 1L fren argdn 98 oy TRuTeHt & srarar Jufer & frent ur off gaen
FRarl g | Auferd s &1 a5 5= 8 &Il 3R A I8 Taar &ar & 1% e oft I € A @ e 7 § ok ofis
79 3l 81 DI Y TS AT 7F A1 BT U FHUR FHAT UHG 61 PRl | TP YR, GO Gl B ool



SfHAA BT 9T g1, 91g | WATdE TR SR AT & Uy | Hud ST, JrHred, SNt sifd, geiiarg
TYT ATHARME A TR TH TS GRT GIGRTAT ST - 31 TG AUFe $i @ Sita=1-qed firet ot stsufa g
F TG A aP 30 3¢ | R Far 3R Hied=mal &1 $5 7 61 UdT 8, 398 | B3 791 &1 fhdt
FATHTA B JTY-HTY G711 R Hf 7141 747 B, Sfaq # g9 3k fawre sma 384 § us IarR &1 arft
TRPTaP RERTSH B ATGH 7, AfH-T Hou &1 U T 9ga 91 U T T9-Ragm=a &1 i war g o
YRR RERT3H § 1 fyean| <t $9un § 98 3R Ggaafaadl & g ok #f-sur goi & fg gt 31
TEpd ATed | ol [Igu® g 98 Voaafadl & $© gearuforl $azd &l 8, fbg svon iR g &1
ﬂmﬁwmqﬁ%mﬁw?ﬁaﬁ?@ﬁﬁm%mﬁwﬁmmﬁaﬁﬁmﬁgﬁﬁwm
B ToR 3Tt 8, S |melf & el ST @ wor 21

ST T B Ugh? -9 YD T Uy BT ITR ga133:
T YRR TRERT & - YT SRR el & fig 3R Fft-wur goi & R gt 32
1. 3MUGT

2. p2U

3. 39f

4. g9

Correct Answer :-

30) dTeif Aufer & fre utamTell W et g3 €, 3fe W 1Y | Aeiuifery, <& FfaAe oifw siaex
Fiormy, g Aay de, are TR 37 TRTaTS’, ¢ Afrwsw kit v oxfe & te Swar s @t
AT He &1 AUl BT TR T8 8 % 3919) fvenl & urrer@ & wdien, fAwa aferss am @ aws
SATIETZ O HET UfaHT aTa Aafe b Bl T TR W 3R JEaaH IRATE & 1Y 39 Ihd ¢ | dufera =
9 Rk fired & Y Apdie a-ma1 afed gxie] B aif qur gui-saawr &) ST I8 /R =8l © fb =it
WY fe, age a1 o9 R-aRradt =81 fren argar ag o=y IATSi & Sremar Jufer o1 frer w off gHem
Pl g1 Tuferd Wis &1 a8 T=1 @ Wil 3R | T8 Taar &ar @ 1% e it Ia-r € 5 @ Ran A § oik ofis
79 ¢l 31 DI W} ATHS T 7F F1 BT U SHUR GHAT UHG 6] Pedl | TP TR, GO Gl B ool
SR o1 der 814, a1g § HuTag T 3R A F urTeu J a w1, Iy, sitenfie wifa, Yeiare
TYT ATHARME A TR TH TS GRT GIGRTAT ST - 31 TG AU $t 3 Sia=1-uea et ot stsufa g
P SIaY[G 3id dP 30 ¥ | YRAIT HaT 3R TRl Bt &5 341 BT UdT 3, 3790 A 3 39 &7 fhat
FATHIA B ATY-TTY IRIT AT FRB o 7147 747 B, Sia= | g9 SR fawne s g § a8 9ar @1 art
TRPTa® RAERTSH B ATgH 7, AfH-T Houn &1 T W 9ea 91 U T T4-Rigr=a &) AT ar g o
YR RERTSH & 7Y firerdn| <t $oun § 98 SRR Sgaafaadl & fig ok $ift-suR gol & R gt 81
P d A1e | St fIgue § 98 Aoredfeadl § o dqafaforal sraxa $3di 8, fbg Foum 3R g &1

A 3TH 81 81 3 SR T 3R gy H ot 3 #1 Arey Ue A Y vifed R fagys § 3o #4
B 7o 3Tt B, St =elf & fpet w1 q@ wror 21

IUYe TRIRI HY UgH 19 IR T Uy HT IR Id138:
WH- ‘GG AT BT 313 §2

1. gl g

2. IU&IT B

3. XY ol

4, 1 HAT|

Correct Answer :-



Topic:- Social Science (SSC)

1) Match the following Education Centre with places.

1. Nalanda A Bengal

2. Somapura B.Kashmir

3. Jagaddala C. Bihar

4. Sharada Peeth | D. Bangladesh

| Tt T@d TR1&TT chal o Tl & o Fde ax
1. ATeIer AT

2. AR | B.5wWR
3. SEger | C.TeBR
4. AR 91a | D. IrIeneEr

1. 1-A,2-B,3-C4-D
2.1-C,2-D,3-A4-B
3.1-C,2-B,3-A,4-D
4. 1-C,2-B,3-D,4-A
Correct Answer :-

- 1-C,2-D,3-A,4-B

2) The major disadvantage of dramatization is: / ATCH I FUTaR BT g Jhd- %I
1. It is not suitable for all subjects and topics / g T} fawf 3R TR & forw SUgad TeI 8|

2. It improves group cohesion / Ig JHg ATHO™ o YR HdT gl

3. It promotes self-confidence / T8 TAAYTT ! IGT4T Sl g |

4. It provides opportunity for self-expression / g M-3RI & T AR T&H Bl gl

Correct Answer :-

« It is not suitable for all subjects and topics / T8 gt fawat ok gt & 1Y SUgad TGQT%'I

3) Which one of the following is not a part of early Jains literature? /

fFrafafEd & 9 #19 v uRfye 99 9t &1 18 82
1. Brihatkalpasutra / §eddh cUyA



2. Acarangasutra / 3RIRTRYA
3. Therigatha / QI

4. Sutrakritanga / gAHNT

Correct Answer :-

« Therigatha / AT

4) The Guptas issued silver coins known as: / 7@l A 9idl & Riges vafera
g, forg w1 wmaT 8:

1. Karshapana / HYgr
2. Dinara / feARI
3. Pana /UMl

4. Rupaka /34Tl

Correct Answer :-

« Rupaka />2Uldhl

5) When does Election Commission orders countermanding of elections? / g-Td ST

ATEl & Y B BT M Hd a1 82
1. In case of scuffle among contestants / W & & ET”TCW&C & AEa H|
2. In case of booth capture / G bl Eﬁe[ &I Rufa A

3. If nominated candidate belonging to a recognised party dies at any time after the last date of

nomination / Ife f&dt Argar ure urdf @ Tifid Iwficar &) amie 3 sifaw fafdy & a1
foraft ot T g BT St ]

4, If a new party joins the contest / 37X m :l?ftl'l_cpfﬂq'l_q’ F’I@ef H W&Iﬁﬁﬁ?ﬁ%l

Correct Answer :-

 If nominated candidate belonging to a recognised party dies at any time after the last date of

nomination / e farelt Ar=gar U urdl T A1 SwificaR &1 Amwie &1 sifaw fafy & a1
foraft off T g BT St B

6) A Social Science teacher has developed an objective type test but she has a doubt about
the reliability of the test. What should be done to ensure the reliability of this test? / Tdh
graTiore g Rierd A T axgfg TR @1 uden 39 31 8, Afe 32 wen 3 fRyg-aar )
g 21 39 werur & fayw-igar gAfda w37 & fore o forar s anfee?

1. Cut short the length of the test/ TR1&f01 B F’I‘@ﬂ'sc HH DY



2. Increase the number of questions / T3l @1 H&HT IGIT
3. Try for test retest method / GRI&U-G:URt&01 o) 71 Uy
4. Divide the test into two halves / T1ef0T &1 g fgwat H fauford &<

Correct Answer :-

o Try for test retest method / TRI&UI-G1.GR1&0T fafd &1 vrmg

7) In which year did India face the Chinese aggression? / g af o yra A = e
BT AT foan?

1. 1955
2. 1964
3. 1962
4. 1965

Correct Answer :-

« 1962

8) Who acts as a link between the Council of Ministers on the one hand and the President as

well as the Parliament on the other? / T 3R HAURYS 3% m 3R TG & ATY-ATY
APufa & d T FS S FUH S B HRA1 32

1. Vice-President / G'CITI'Q'Qﬁ

2. Prime Minister / GUTTHAT
3. Cabinet Secretary / Hiae afad
4. Parliamentary Secretary / I9qig gfad

Correct Answer :-

« Prime Minister / YUTTHAT

9) Who among the following is considered to be an architect of modern Social Science? /

Frafafea ¥ @ 5 snyfFe amrire g™ 1 aRgsR 7T ST 32
1. Auguste Comte / 3RC B
2. James High/@'F{:IETsc

3. Emile Durkheim / SHISd gWA
4. Charles Beard / a7 g8



Correct Answer :-

« Emile Durkheim / SASd g&H

10) Who was not part of ‘Navaratna’ of Akbar? / {HdaX & "o P e B A8 UT?
1. Birbal / SRelcl

2. Raja Todar Mal / XTIl clex ad

3. Raja Bhara Mal / XTolT HR HA
4. Tansen / A9

Correct Answer :-

 Raja Bhara Mal / XTSIl HR HT

11) Who used to be the chairman of Planning Commission? / YISET TN & A& CaC|

B 82

1. Comptroller and Auditor General / IBRECAEIR Ilg'la'@ﬂ PRAED
2. Commerce Minister / qIforeyg #aT

3. Prime Minister / eTTHAT

4. Finance Minister / ICLEEE

Correct Answer :-

o Prime Minister / TYTHT

12) Who developed Sociometry as a technique for assessing relationships among members in
a social group? / T ATHTTS THE W TS| & a1 Haeli BT THA-T HI & fol¢ Th dPp-i1h &
w9 # foraa gurafafa o1 faer fear?

1. J.L. Moreno /@I.QFI. AR
2. Max Weber / B deR
3. Henry Murray / 7R Eﬁ

4. John V. Michael / 519 g1, Alg®HA

Correct Answer :-

e J.L. Moreno/ @T.Qﬁ ARA



Akal Takht in Harmandir Sahib was built by: / m '\‘IT%E H 3BT dged bl fFrator
o g1 o T AT

1. Guru Nanak / 7% [

2. Guru Angad / T[® 3G

3. Guru Hargovind / 7[® ERUIEH
4. Guru Govind / % Tfdg

Correct Answer :-

+ Guru Hargovind / T[® SUIGE

14) is the quantity of all goods of imports and exports in a year by a country. /

U3 U ERITS a¥ § IaTd 3R Frata & a@sh wrel # wmr a

1. Tariffs / U[edh
2. Volume of trade / SATIIR TRHATIT

3. Quotas/?ﬁa
4. Embargo / ATIR-UfRIY

Correct Answer :-

« Volume of trade / SITIR GRHATIT

15) implies severe indictment of the government though it does not require
resignation of the Council of Ministers. / P ATl IRER & TR R § %

TP SHd e AfuRye & i o sraxaddr 78t &
1. Cut Motion / Feld! URdTd

2. No - Confidence Motion / (A% URdTd

3. Adjournment Motion / BIURFTH TR

4, Censure Motion / IGEARCESIC

Correct Answer :-

« Censure Motion / f=gT U&d1@

16) society feels concerned about meeting the needs of all its members. /

T 3T G TR B el B WA F IR F Riarefa war g
1. Egalitarian / JHMYHRATG!
2. Elitist / §Hiqarel



3. Class Oriented / aﬁ?’_ﬂ_@
4. Sectarian / ARG

Correct Answer :-

« Egalitarian / GHMIYHRATG!

17) is a process of increasing knowledge, skills and capacities of the people of the

country. / I F AN P T DI 3R AT B I¢M B TP ufehar 2|
1. Human resources / {1 TATY

2. Human Capital Formation / HI-Id Q\Gﬁ fator

3. Physical capital formation / Wifds tljrﬂ fafor

4. Capital formation / tj\Trﬁ fmfor

Correct Answer :-

« Human Capital Formation / HI-d Q\Gﬁ fator

18) The Rig Veda samhita denotes one-fourth of its hymns to : /%_la?: Jfgar | 3'\‘1% Uh-

TS WSt B 19 forg gitan a2
1. Agni/ 3

2. Indra / 3%

3. Rudra / ¥%

4. Marut / HI®d

Correct Answer :-

e Indra/ 3&"

19) The matters or subjects of common interest to both the Union Government as well as
State Government are included in list / g IVPR 3R 359 TWPR 3-']71-1' Cg ﬁnz
T fRd & /v a1 favg T # e g g1

1. Concurrent / JHAd!
2. Union / 99

3. State / X[y

4. Uniform / Uh HHIT

Correct Answer :-



« Concurrent / JHad!

20) The government of India established to coordinate the activities of all
institutions involved in the rural financing system. / HRd IXPR = ureftor fa sgawT o
e vt SR B nfafaftat & awag & forg Pt AT B B

1. National Board of Agriculture and Rural Development / TI'@'C[ W 3R g fasr s

2. National Board of Agronomy and Rural Development / QT@T{ ?ﬁf fasm 3R uriur fyeeT oS
3. National Bank for Agriculture and Rural Development / ?TQTJ T&f 3R ymior g o

4. National Bank for Agriculture Reconstruction Development / ?‘I@’q ?f@f Q:lﬁTﬁ'UT CEAREEY

Correct Answer :-

 National Bank for Agriculture and Rural Development / ?TgTq m 3R urfiur iy o

21) The song Vande Mataram was first published in which text in 1882. / a%. HIAYH M

Ugdl 9) 1882 ¥ fh e Saarul # UHTIRIA g U1
1. Anandamath / 3TH¢ 3

2. None of the above / dqgltdrl o3y orﬁé Tel
3. Gitanjali / TSIl
4, Gita Rahasya / IGIRGE

Correct Answer :-

« Anandamath / 3H¢ H8

22) The method of learning in which the students are given an open question and they design
investigation methods to arrive at conclusion is known as: / e ot fafe forad o= @t T
farfofa sy faam oimar & 8k A freed wR ug=m & e wiw fafira &) fEemg= #va &1 sifrm g
Lkl & U H A1 AT 7 |

1. Conformation inquiry / f&==0ur Sita
2. Guided inquiry / FERId Sirg

3. Open inquiry / gail St

4. Structured inquiry / IR it

Correct Answer :-

« Guided inquiry / FERd g



23) The main tenets of Mahatma Gandhi’s basic education is: / AETHT it B Hifere fRuam &1
T i

1. Education should develop a strong man / Ri&f & U AeIgd T &1 [dbr H=1 A1
2. Education should be self-supportive / Rref sk g+ =gl

3. Education should be based on cultural and social heritage of the Land / 18 &t bt WW
3R grTfoTe faRmad WR sneia gt =iy

4. Education should be activity-centered / fR1&fm TIfafafd-dsfod g =mfeul

Correct Answer :-

« Education should be self-supportive / FRI&T STAFR g =R

24) The process of hiring an outside contractor, especially from foreign countries, to perform

their work is termed as ./ faRiu =0 ¥ fad=h 42 4 uop 915t SR &1 fge
W;ﬁm,mﬁ%wﬁﬁwﬁﬁmmﬁ & &4 § uRyiia ot
Wt 81

1. Outer Space financing / STgl &[] IESLILLY
2. Overseas financing / faa=h foaqaio

3. Outstation sourcing / STgl &I T

4, Outsourcing / EI’%@?‘FT

Correct Answer :-

 Outsourcing / El’%@ﬂ:f

25) Which one of the following is not a characteristic of evaluation? /Frafafeadd
Y- &1 T fa=ivar 481 82

1. It implies a systematic progress / THPI I T safyd wifa 9 B
2. It is a continuous process. / g T Hdd Ufshal gl

3. It always assumes that educational objectives have previously been identified and defined. / I8

A HMET OI1dT © fh Aferr ST xal &) uga ugemn SiR uRyiidd fear man g |
4. It does not give emphasis to personality changes. / I8 fddd gRkad IR oIk T8 <1 ]

Correct Answer :-

« It does not give emphasis to personality changes. / I8 fddd IRad T R AR TR ST |



i. Kabir Das was disciple of Ramananda. / HAR G IMHTHG & Rrsg A
ii. Kabir belonged to the Muslim weaver family. / FAR g%m gqdd gRarR | 4|

iii. Kabir believed God is one and people just worship him with different names. / FAR BT

AT AT b $947 T & 3R T 1 34 fafer =1 @ gora €1
1. All are correct / T9 5! §

2. Only ii / / pad ii

3. Only iii / / A iii

4. Onlyi/$bad i

Correct Answer :-

o All are correct / Hd ﬂg)f %

27) Which of the earthquake wave travels fastest? / fo5a ‘lﬁ"ﬂ:ﬁq Gruk ik e LRI
Il 82

1. P-Waves / -]

2. S-Waves / W—ﬁ?ﬁ
3. L-Waves / T-a4]
4. T —waves / CI-a|

Correct Answer :-

o P-Waves/ tﬂ—ﬂ?ﬁ

28) Which programme of the Government of India promises to extend livelihood security to
the rural households by providing one hundred days of guaranteed wage employment in
every financial year to every household? / HRd UXPIR BT DI 9T HTUHH BY W A R4
fo<ita 9 & oo I o 1 TRE a1en AR UeH F3ab Ao uRar) ®1 srrsitfaet
TR 3 BT ATGI HAT &2

1. Jawahar Rozgar Yojana (JRY) / SIdlgX ISR ST (@[.\’rﬂ?.?ﬂé)
2. Sampoorna Gramin Rozgar Yojana (SGRY) /ﬂTQ:Uf‘;ITJ:ﬂ'UT ISR ST @?{Gﬁ&n?aé)

3. Integrated Rural Development Programme (IRDP) / Qﬂﬂ% PIGIACEARCgRER
(313, 3R. .U

4, The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HglHI Tieft

RIS ATHIOT ASATR TTRET SHfAHTH (FRA)

Correct Answer :-



« The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HelHI et

RS ATHIOT ASATR TRE ST (HRA)

29) Which is miniature of the parliament of India at the grassroots level? / H&AHd TR UX
YRT B TG BT Y =T T 8?2

1. Gram Panchayat / TH PEIRG
2. Gram Sabha / UTH HHI

3. Block Panchayat / CUCACEIRG
4, Zilla Parishad / ISNIRCIEL

Correct Answer :-

o Gram Sabha / UTH YT

30) Which among the following is not function of Central Bank of India? / fafafead
T Aed d 3P fear &1 w1l 781 872
1. Custodian of foreign reserves / fageh ST HSR &1 HIIRED

2. Operation of Direct Benefit Scheme to the rural poor / ITHIOT TR o J[%’I'Q U ATH i1 BT
REINE

3. Bankers bank / SHR BT dB
4, Controller of credit / Ul (m) CIREUELT

Correct Answer :-

« Operation of Direct Benefit Scheme to the rural poor / o TRIET & T T el Y Ao Bl

31) Which among the following countries typically follows a free market economic system? /

frafafeaa ¢ o & $19-91 431, godd TR 31ffe JorTelt T SR 01 HRdl &2
1. Cuba / FGT

2. South Africa / &[0T 3{THTHT

3. China / 9

4. USA / & T SERIHT

Correct Answer :-

. USA / 9gad Iy 3ERieh]



32) Which mass based organization’s initiative led to the passage of Right to Information

Act?%gmmaﬁwefwmmﬁ%mmwaanﬁ
Ued §%?

1. National Campaign for Human Rights Initiative / TSR Ugd o forg QT@H 3R
2. Great Legalisation Movement India / Hgl iR e HRd

3. Mazdoor Kisan Shakti Sangathan / HoIgX o wfad e

4, Self — Respect Movement /  ¥d-HHI GRS

Correct Answer :-

« Mazdoor Kisan Shakti Sangathan / FSIgR foar Rifad diraH

33) Which Commission was appointed by the Government of India to bring changes in
secondary education system to make it better for the nation?

/ HIRd WP gRT {6 H AT 1 AP & forg dgaR -1 8 Areafde g yoredt #
edrd a1 & fore frge far ¥

1. Mudaliar / HGII%IEIR

2. Srikrishna / S 80T
3. Ramaswamy / THTRATH]

4. Kothari / AR

Correct Answer :-

« Mudaliar / H'c:ri%ﬂm

34) How much time difference is there between two longitudes? / &l ¢xTiaR| & s far
HHY 3R gl 82

1.2 min /2 fie
2. 12 min / 12 f&e
3.8 min/ 8§ f&FC
4. 4 min/ 4 e

Correct Answer :-

« 4min/48e

35) How many ‘subjects’ have been assigned to Local Governments through Constitutional

Amendments? / HAYTD TN P ATHH A RIHG IWHRI b1 fodq fagg g ™ %?



1. 10

2.19
3.39
4. 29

Correct Answer :-

e 29

36) Which of the following is an outcome of pragmatic school of philosophy? / FafaRaa d & G

SIRIRAE & ATIERYAS faeTay &1 Te ufRumy 8: -
1. Project method / RS (ﬁl@ﬂ%’) fafr
2. Discussion / TR

3. Team teaching / T1H fRI&{01
4. Source method / '\‘;h?f fafar

Correct Answer :-

» Project method / R (Eﬁ@ﬂ%’) fafd

37) Which diagrammatic representation would you like to choose to show Proportionate Allotment

of National Income to different categories? / fafirsr gforai o ?T@'q AT & ana'm% 3HTde &I
feam & fere oy fore syt f=egor &t g1 Argie

1. Flow diagram / Ydlg 3R
2. Time Lime diagram / CISH ¢llgH 3N

3. Bar diagram / IR 3G
4. Pie diagram / tﬂ_sc 3T

Correct Answer :-

 Pie diagram / tﬂ_sc 3N

38) The National Curriculum Framework, 2005 insists that Social Sciences must link child’s life at

school with: / I UTSTTAT P1 TUEI, 2005 3 I1d WX IR gl & [ Tpa & wrATRore famm
1 9= & ofla | 9 gRT wilsAT =i -

1. Real life outside the classroom / H&T & dTgR P ARAAD Si1d-
2. Life inside the classroom / B&T & HieR Sita-

3. Textbooks in the classroom / B&T H UWW

4. Teacher’s expectation / fRre1 B ruenm



Correct Answer :-

e Real life outside the classroom / D&l & IR CESICEASICE

39) The Aihole Inscription is ascribed to which of the following rulers? / frafafad sl A

W forad gRT Ueta Rrarera fofaa art ordt g2
1. Kharvela / @RAd

2. Bimbisara / TSl eER

3. Rudradaman / SGGTH

4. Pulkeshin II /gﬂm@?ﬂq

Correct Answer :-

« Pulkeshin II /Eﬁm@?ﬂq

40) Which of the following is a plantation crop? / fRufif@a # & H19-3 v geRIvu Baa
a2

1. Sugarcane /T
2. Cashew nut / PIY]

3. Cotton / hUNH

4. Red Chili / o< fod

Correct Answer :-
+ Cashew nut / PI]

41) Criterion-referenced evaluation refers to: / ATGS-giid eITdH BT aTedd
gl

1. Evaluation based on a set of predetermined criteria / Gd fUiRd AFCS! & Th I & SHTUR R
HedTh HAT

2. Evaluation conducted without any arbitrary norms / fardil off FHM A ST & Hedio o famT
SIS BT

3. Evaluation carried out after conducting pilot test / TR TGRIE01 R & §1G Jedidh Bl
4. Evaluation administered as post-test mechanism / Gedidb1 & §TG URIEU1 o &b =G B URIRIG HAT

Correct Answer :-

« Evaluation based on a set of predetermined criteria / Gd f14fRd AFCS! & T e & HMUR W
He™ih HRAT



42) In collaboration with an organization in which among the following countries, the
Ministry of Earth Science has launched ‘Project Varsamana’ as a cornerstone of the Indian
meteorological department modernization programme? / T&% HT34 & ggar A fAafafaa
30 # A frad, gt fagm wamey A uRd B Ryt snyfatevor sriwa @Y snurfRen &
0§ ‘Wvide qaia=T R fHar 82

1. France / T

2. Russia /=Y

3. USA / 3T
4. Germany / S

Correct Answer :-

« France /W1

43) CANCELLED

Which of the following is the narrowest strait of the world? / m ﬁ ﬁ ﬁﬁ '\‘:ﬁ gﬁ'{ﬂ El’ﬂ'
e Gl STasuEaw (Fawi) 32

1. Strait of Dardanelles / GTiesl STy
2. Foveaux Strait / TIdl STag e

3. Bab-el-Mandeb / 916 3@ A<
4. Strait of Tartar / TTeR 1 ST (Y

Correct Answer :-

« Strait of Tartar / CTex 1 ST
44) CANCELLED

Which one of the following is not included as a function of summative evaluation? / Frafafea

# q P UNTHD YediT & P P = A Y 781 22
1. Promoting / A8

2. Selecting / TAMT HIAT

3. Discriminating / fa9g® Rl

4. Crediting / 30 T

Correct Answer :-

« Discriminating / fANGHRI



45) CANCELLED

Which one of the following is not a characteristic of critical thinking skills? / Fafaf@a & 3
w1 fade g SIa o U faivar 181 82

1. Being time consuming and laborious / 3{fd& THg ¢ aTel 3R afesedt g1
2. Being resourceful and creative / Y= U 3R IS BT

3. Being systematic and deductive / SIaRId 3R faasres g

4. Being reasonable and rational / gdifd 3R qHITI T

Correct Answer :-

« Being time consuming and laborious / 3% THY &= dTell 3R afesft g

46) CANCELLED

The industry which produces machine tools which are, in turn, used for producing other

goods for consumption purpose. / g ST St A=A SNSTRY WWW%, o ged
H, SUUNT & I£T A 39 TGS BT I H & T ST fHd o

1. Fiscal goods / SIS AT
2. Capital goods / q\GﬁTIT‘T Hiel
3. Consumer goods / SUHYEIT T¥IU

4. Perishable goods / WRTS g aTdT HId

Correct Answer :-

47) CANCELLED

Who translated Ramayana and Mahabharata from original to Oria language? / §{& g

TS SHT YT & AT 3R AGTURT BT 3raTg fha fvam?
1. Fakir Mohan / BHHR In_EFT

2. Madhusudan Rao / HYI G Xd

3. Radha Nath Ray / XTHT 9TY Ry

4. Lakshmi Nath Bezbarua / a&%ﬂ IV SERRE]

Correct Answer :-

o Fakir Mohan / W’ﬂ? Ih_EFT

48) CANCELLED



The cold layer extending up to the ocean floor is called? / Y& ¢l db el 381 IRd DY
T BT ATl 52

1. None of the above / ITdad & ¥ Hs gl
2. Epilimnion layer / Efﬁrl%mﬁm Od

3. Thermocline layer / ﬂﬁaﬂﬁq gd

4, Hypolimnion layer / ‘s’l'{thﬁtrﬁaq Wd

Correct Answer :-

« Hypolimnion layer / ‘e’l‘{thﬁrrﬁﬂq gd

49) CANCELLED

Match the following:

1. Din-i-Ilahi A Abul Fazl
2. Fam Charit Manas | B. Tulsi Das
3. Ain-i-Akbar C. Babur

4. Tazuk-I Babari D. Akbar

| a=afefaa = Jer:

1. &iF-U-Selmgr A 3G Bl
2. A IRd A | B gl g9
3. UF-U-3HEET C. &
4 TehTIEd | D 3AF

1. 1-A,2-B,3-A,4-C
2. 1-D,2-A,3-B,4-C
3. 1-B,2-C,3-D,4-A
4. 1-C,2-A,3-B,4-D
Correct Answer :-

e 1-A,2-B,3-A4-C

50) Continuous and Comprehensive Evaluation has transformed the evaluation system as: /

Tad 3R TIPS Yedidh - Yedih- HuImelt ot & U § wuiaied o= AT 3|
1. More complex by incorporating too many details / §gd IR fdaRull & MHA HIb 3R 3ifere wifew



2. More comprehensive for scholastic areas only / dad e &=t & fore it e

3. Vague as exact rank of the student cannot be found out / 3RTTY, Fifh S & T ¥ BT Ul et
TR ST Hobell §

4. More reflective of the entire personality of a student / U ST & YUl Afddd & avd H S1ferd
[EGRRIK]
Correct Answer :-

« More reflective of the entire personality of a student / T BT & E[UTW & fawa o sifdw

51) The chalcolithic site Inamgaon of ancient India belongs to which of the following states?

/ FPrafafea & 3 f5a Tsa | wRiA YR ST 9/ Uo7 3 (QATeh i i) TId g
Taftd 872

1. Maharashtra / HEIRTY
2. Rajasthan / XTSI

3. Karnataka / B¢
4. Gujarat / 7]SIRTd

Correct Answer :-

« Maharashtra / Il?l_{l'g

52) In which of the following session of the Indian National Congress the resolutions on
Fundamental Rights and National Economic Policy were passed? / YR ?T@'q CapRkg

7 7 9 i w7 ¥ diftre st ik g enfdfe Hifa W doer ulia fad e
1. Faizpur,1936 / BoTQR, 1936

2. Lahore, 1929 / ATER, 1929

3. Karachi, 1931 / R, 1931

4. Belgaum, 1934 / §C7TTH, 1934

Correct Answer :-

« Karachi,1931 / &3, 1931

53) The first mass movement against British India was : / fafesr URa & foos ygan o+ siigiaq AT
1. Non-Cooperative movement/ﬁ?—ﬂ%w SICGE

2. Swadeshi Movement / TR 3figie

3. Quit India movement / “-I'R?T@zl?:f figra



4. Khilafat Movement / RIdT®d 3iigia-

Correct Answer :-

« Swadeshi Movement / T gft figia

54) Margosa oil is obtained from which of the following trees? / ARt da Fefafea d 9
fra U A urd gar 82

1. Ficus / TIgh Y

2. Babul / d¢fc]
3. Neem / Gt

4. Bamboo / 919

Correct Answer :-

e Neem/ Cits|

55) Which among the following is the World’s largest Wetland System?

/ Frafafea | 3 o1 Ot fay $t a9 g1 SmyfH Yot @deds Rvew) 32
1. Everglades (USA) / TaRT0IS Y (UT)

2. Okavango (Botswana) / 3TN ( SIeqdT)

3. Pantanal (South America) / T=I-TaITdl (GI&T0T AR

4. Camargue (France) / HT (1)

Correct Answer :-

« Pantanal (South America) / U=d-IcTlel (a'fgl'UT S‘Iﬁm

56) Scientific study of soil is known as which of the following / fafafeada Hal oI
AP ST T Pl 82

1. Soilology / ﬂ'\fgfﬁaf\_rﬂ
2. Pedagogy / BEUIE]
3. Pedology / PRIl
4. Ontology / fferarsn

Correct Answer :-

« Pedology / USTarSIt



57) Greenland comes under which of the following Jurisdiction? / ‘Jﬂ’lﬁ:"i, Fafafeada

fe Sftrer-a= 3 82
1. Danish / SFRI

2. Norwegian / 10 fora

3. US / 3Rt

4, Dutch / €9

Correct Answer :-

o Danish / S

58) Which year was ‘Project Tiger’ launched in India? / HIRd A frg af A ‘Uiviae egTR’
3R¥H foar T 412

1. 1973
2. 1974
3. 1971
4. 1972

Correct Answer :-

« 1973

59) Who succeeded Shivaji Maharaj as the Maratha King? / HXTST ITSIT & U A fRrareit
HERTS BT STRIUBRI DI §1?

1. Shahji / &S
2. Shahuji I / gl I

3. Rajaram I / XISIRTH 1
4. Sambhaji Bhosle / GHTST HITl

Correct Answer :-

« Sambhaji Bhosle / HHTST HITal

60) Social Learning theory was introduced by: / JTHIfoT® 3IfRTH Rygia & g7 U fopar
T Y11

1. Sigmund Freud / RATHE Wigs

2. Carl Jung / &Tel G



3. Carl C. Rogers / T T, Ao
4. Albert Bandura / /e8¢ g1

Correct Answer :-

« Albert Bandura / 3e8c SgT



